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CLASS-XII MONTHLY EXAMINATION, OCTOBER
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. Note : In case of any doubt or discrepancy in any question, Hindi version will be valid.

v T A 3 et 2 TR P St SRl st e 3 AR S|

Follow the instructions given under each type of questwns and answer accordmgly

TS - A I SECTION A

i A atgﬁam/ Objective Type Questions
VT G 1 @30 m%mm%mwﬁmﬁqwéﬁnﬁﬁ@wﬁ?laﬁmgﬁnﬂwﬁ
E | %ma&omyﬁzwﬁmmmmmm@ﬁ%aﬁlwzsm%mél 25x1=25

option, on the OMR Sheet with blue/ black ballpomt pen only ‘Answer any 25 questzons 25x1=25

1. a*egﬁwamﬁruﬁrﬁam

J})/Bﬁ'@ ﬁ'ﬂ ﬁ/ Convex Iens

| (C) €Hdel ‘d‘f"l ﬁ/ Plane mlrror ; (D Sﬂﬂ el Q"'{Epf/ None of these \a.e\..

]

2. ‘@Mﬁ;ﬂ’(mﬁaﬁﬁmﬁmwggﬁﬁﬁ% lmﬁ%@ﬁwmé/lﬂght

ray bends while passmg from one medlum to another medlum 'l‘he bendmg of rays is

: /B1g and v1rtual image of a body is formed from

i (B) ' Cﬂaﬂﬁ '(':TH q/ Concave lens

!

called as : , o i kil :

i) i i iy x‘“;”fl’/{\ ' ; e : ) i Py TR }“,s"
_ J mﬁm/ Interference ' (B) a“f-ﬁ@ﬂﬂ / Dispersion A i
EIWE%{/ Refractmn ‘_ gt ”(D) ‘R‘I’cﬁh /Reflection

]
! &\e \

'3. '\?lil W’ﬂ a#a L Sﬁ?ﬂ E‘(‘éﬁ % ﬁ ?&Fﬂ Wlaﬂf/When light passes through‘glass then its
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Question Nos. 1 to 30 have four opttons, out of whlch only one is correct. You have to mark your selected
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9.

A 3N FIE F AUTAIS HH: %aﬁﬂ%% | Tt 1 HTe ) G AgEdH B Refractive

' ' { ct
indices of water and glass are g—and -g-rcspcctively. Refractive index of water with respe
to glass will be

@& 2 B (©)

N4

HfRH wrea frg Rrgra T w1/ @ 8 /Optical fibre works on the principle of

®|o
O | ®

(A) 3UFad /refraction (B) WehwiR / scattering

(C) soi-fagwur/dispersion ; \JD( QUi 3M=IRe qUad /total internal reflection

TH oF (p=1-5) F 581§ BFE gl 20 cm R | 15 39 a1 e § 39 o F F BHE
{ﬁ B/ The focal length of a lens (p = 15 ) in air is 20 cm. Focal length of this lens in a

medium of refractive index 1:5 will be

(&) 120cm  (B) 40cm (C) 10cm \p/w
T <8 % GH wagl ) ka1 Bt (R ) T9F § o ofe % A1em o smadai 1.5 2 | 39 O
E3f qﬁm {ﬁ @"ﬁ/Radii of curvature of both the surfaces of a lens are equal ( R ) and

refractive index of the material of the lens is 1-5. Focal length of this lens will be

\())/iR .o BIHRR Wiy a0

R

Ak

D) =

N w

@ﬁaﬁaﬁémﬁwwé,‘mm 158 lséﬁaaﬁmmﬁ#ﬁ(uﬂ-ssy i

' ga foa st =7 e Tam SIIER ATl ?/A convex lens is made of such material of

which refractive index is 1-5. If this lens is immersed in water (p=1-33), then it will
behavc as ‘ ‘

\/(Aj/ Nﬁl’ﬂTﬁ ?ﬂ?/ Converging lens (B) 3M9ETd ﬁ'ﬂ/ Diverging lens

©) ﬁ‘ﬁq/Pnsm , (D) 3UETR a@fUT/Diverging mirror
Ife ﬁ,‘sﬁ ‘ﬁa ?ﬁ LaET: E;ﬁ 20 cm B, A IR G E‘f’ﬁ/lf focal length of any lens is 20 cm,

then its pow r lel be

A) 53@12?/5, dioptre . (B) 20 SRI=/20 dioptre

05 W/OS dioptre (D)  0-05 SAIRY/0-05 dioptre
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10. 3% I g (f)%ammm@ammammmﬁmiﬂ
@’ﬁ I/1f two converging lenses of equal focal length ( f) are placed in contact then focal’
length of their combination will be .
W 5 B zf ey f2 - @3S
11. T I nggsﬁ # Y 3k atfrgvas & o tftraman gl 2l 8/The maximum distance
‘ between eye-piece ‘and objective of a compound microscope is

W @ m?‘ﬁ; EAR G qﬁiﬁ % a9 | aﬂiw more than the sum of focal lengths

of eye-piece and objective

B) b QEI ‘“W #1 wiwd. {ft!ﬁ % 91 % ST/ equal to the sum of focal lengths of
eye-piece and objective

© A Afigws ﬁ LT ?;ﬂ'!ﬁ %s !ﬁ”T ¥ $H/less than the sum of focal lengths of

‘ eye piece and objective

(D) 'a:_vla Y 6 gl 3 31&13-7 /more than the focal length of eye-piece only
12. 9H 'EN’IGFT T @me Eg\'aﬂ’cF ﬁ aa'lé ’E:Fﬁ/ln normal adJustment length of astronomical

telescope will be _ :
W e B xR @ flf B S,
| _;f\. 13... qHa 3ﬁ'@ % fod wE gﬁ i :ZE?I"? Qel % /For normal eye least distance of distinct

-~ vision is ., EREL RPN ’ i
'.(A) 100 cm (B) 50 cm- - _.(C) 250 cm ‘)py/zs cm

% ! 14 m ﬁﬁ{‘l ThR EFUﬁ % T=F‘Fh | W ? ?/ Light is formed due to vibration of whlch type of

e

Bl

partlcles P i ;i 0 |
::(A) ng( £ / Ether partlcle . s \ABKTQ U1/ A1r particle _ ‘
C W/ Dust partlcle P (D) m | Tvb:l'é T&pf/ None of these Wy é

2 % T ﬁlﬁﬁ 33 E;'RT feraeht =mE & '@ﬁﬁ ? /According to wave theory of hght which

f the followmg phenomena is not explamed ?

qUEA /Reflection
YT /Refraction

15,18

gav/

YehTel fere[d IS/ Photo-electric emmission

L)

olarisation




AL
) i

XII/00T0/12341 Page 4 / 7
16, D quw we ag I FE-G G I T B 2/ The waves produced by two COhCrent i

. light sources have

(A) TV THEANH T %/approximately same wavelength
B) THEH A F/equal velocity ‘

() WH‘TH GUIDECY equal wavefront

W HATR */a constant Phase difference -

L

17 fommstt =i & R Ui W ﬁ"ﬂ El'f%‘l/ For destructlve interference path difference ;‘f /

| N should be equal to ‘ : T ; ,
% | (A) nx'%/n'x : '\Mﬁl)g %;_/(zﬁ.u)%
; b © Y@ ¥/zer0 A iy ‘aa‘-—ia‘%/inﬁnity

el 18, fr=fofee & @ ﬁ'—l qaq I E«'ﬁl‘ﬁ m 5l ‘éﬁ'd ‘3 ?/Which of the following is the best

source of monochromatic light ? -

(A) @‘ﬁﬁﬁﬁ/A candle _‘ ‘ : '  ( qesﬁ'gam/An electrlc bulb

\}}/Q%mﬂ?/A merctiry tube é’HT/Laser ,
19. wﬁwmam-wﬁﬁ?ﬂmg 4%mﬁ§|aﬁm3ﬁtn§m?ﬁmaﬁm

313‘?1?1 %/The ratio of 1ntens1t1es of two llght waves producmg 1nterference is 9 : 4, The

: . } ¢
ratio of maximum and m1n1mum 1ntenS1t1es 1s

\/(Aa/zs 1 B) 13:5 ey gy D) 1:25
@

R i 20. Gﬁ"éﬁﬁ 3ﬂ'{‘ﬁ35iﬁ"iﬁgﬁiﬁl?ﬁW%Hﬁﬁﬁfﬁﬁ?ﬂg/wmnthedlstancebetween

source and screen is increased, then the width of fringe . i
_()f}/?%; 8 /increases ; (B) Hedt B/decreases

(C) sfafda Tt '%/ remains same S?ﬁ L} ﬁ'{ Tb"f./ none of these

g, .

_gﬁmaﬂﬁawwﬁs@@mwmm% ﬁwﬁrm 2D 3 |maﬁﬁ%

ﬁ’fﬁ g ﬁg '@I'Fﬁ /A person suffering from short s1ghtcdncss uses a lens of power - B

QQ“The

" far pomt for this person will be
; (B). 50 cm’

(D) 150 cm
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@ Wmﬁﬁ?@?ﬂmaﬁxwﬁmgﬁwmﬁmg/ wh'::nhghtraysbendffom@l

sharp édge then this phenomenon ; is called as
(A) : m/ i‘efi‘action \/(B/ ad /diffraction .
' (C)v_"‘ ; a‘ﬁ?ﬂ“l/ interference , (D) yeor/ polarxsatxon
23. m ?R"ﬁ it Eﬁf qreht %/The nature of hght waves is
(A) 343%55 /longltudmal

Mm/tmnsverse B it i | . '

\ v . .

) “ 3'33‘25 ¥t AT/ sometimes longltudmal sometimes transverse

§€§ ?'&Ff ﬁl Sl m/nothmg can be saJd

24. WWW%/Brewsterslawm gy T

p’ \p)’/p. tanzp (D) p.tanzzp
Wﬁmmmmemmmﬁaﬁmﬁ aawaﬁhmtgﬁarg gﬁa@?ﬂ% ITc{RfEFI

3?‘{3?7:!133 ?Fﬂ/When light 1n01dents on a matenal at 60° then ,reﬂected l;ght is perfectly | %

(A) p=smzp ‘(’(B) u cosi,.

polansed The refractlve mdex of the matenal will be

i} b B 13 \JQ/”B (,)\, 8

%, ZE@WE—BSW%ﬁﬁHmﬁT@Hﬁ?IWﬁWﬁT'&ﬁTﬁ/Twolensesof

2 didpti'e and - 35 dioptre are 'placed in contact. Power of combination‘will be_ :
i1 mn dloptre AR \_J,ar)/w T - 15 dioptre
| . =3 5 Eﬂﬁf{{/— 3:5 dloptre

Ua'a'r -‘g/idecreases

Hmﬁﬂ GHT %/ remalns unchanged

-sqﬁ ﬁ qﬁ'ﬁ =r5°f/ none of these
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08, B A AW B RA . wEdars T v Bon @ =an frger B g #/For small

X is
angle of incidence, the minimum deviation angle for a thin prism of refractive index B

(f'\) (1 n)A B) (n-1A (€ (n+1)A (D) (H+1)A

20. TRUT 1 Fmin frafafea 4 @ ﬁm %1 A 81 } 2/ Which of the following is the reason

for formation of rainbow ?

(A) W/ Scattering : (B) femd ) Diffraction
O)"‘ aﬁ-ﬁm/Dispersion (D) m?f'-l/Refraction

30. ¥ad v 9« et few | o @ 79 @ &fwﬁw%amwﬁm% ?/When white

light passes through a prism then which component has maximum deviation ?

(A) ©Tel/Red
B) 1/Blue
(C) 9Tl Violet

\)B/ oft 399 gaE w9 9 =l Eﬁ %—/All'/components deviate equally

. @Us -9/ SECTION-B

@Y IA{A U / Short Answer Type Questions |

w7 1 10 T g T § | Rl s e S amd | smF P2 siwReiRa g 5x2=10

Question Nos. 1 to 10 are Short Answer\’l'ype. Answer any 5 questions. Each question

carries 2 marks : 5x2-10_

1.

YIS § AT T GHIAA & ? ﬁ@awmﬁmm%aﬁammﬁ |/What do

you understand by refractive index ? Explain the difference between absolute and rel'ative
) d A c

refractive indices. ; .
T Iue o Ot § qofa: gan gan } | AW Y g w9 S ] 1 6 9/A convex lens is fully
immersed in water. Why does power of lens decrease ?

Figiﬁ g % figws w1 g Bl | A ® ?/Why is aperture of objective of

compound microscope small ?

fre gt qu %8 Ieam B 2 ol s framw AR B4l ? ?/How is short sxghtedness

produced and how is it eradicated ? R
g gui-faggu ayr wui-fy@ou swar @ o =0 gue@ % ?/What do you understand by

: angular dlspersmn and dispersive power ?
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. AT ¥ uwy & H ﬂTﬁﬁ! W'("l = v g 2 ?/Why does horizon in east seem to be red

at the time of Sunrise ?

9. ﬁ'ﬂ?ﬁ T HW R ?/What is the cause of diffraction ?
10. ‘ﬂﬁrrsg w R ?/What is polarmd ?

W sraw / Long Answer Type Questions
”"m“‘“smﬁm?:waw¢me,m%msmm3 3x5=15

Question Nos. 1] to 15 are Long Answer Type. Answer any 3 questions. Each question

AcameSSmarks ‘ ‘ 0 ‘ 3x5=15

11. %{iﬁqﬂééﬂ%%ﬁﬁt{%{mqﬂmﬁ:
T ' - '
I; (n 1)[R1 ,Rz]-- 5 -, Ry ,
ﬁﬁawmaﬁﬁm@ b o . % i -

For a thin lens obtain the following formula :

1 1 1)
? (n- 1)(R1 Rz]

B leferent terms are used in their usual meamngs e A S
12.1 ﬁwﬂmq\mﬁﬁmm lmﬁmmmmmﬁ /|/Explain the

workmg of compound microscope. Obtaln an expressmn for its magnifying power.

2+3=5
i3, -ﬁ%w §H '3 ? ﬁﬁ'ﬂ? ea a“f-ﬁ&\ﬂvl AT A gm0 ?/What is dispersive
power ? How will you obtain dlspersmn w1thout deviation ? 2+3=5

14. wEiE @ qin Rigr w2 ?mmmm%waﬁq%ﬁuﬁﬁW# |/What is
‘:"Huygens wave theory ? Obtam the laws of reflection of light on the basis of 1t 2+3=5"

m%wﬁww%mmmﬁmﬁmﬁiﬂa{%%ﬁmmﬁ I/ExplamYoungs

»expcnment of 1nterfercnce and obtain expression for fringe width. 2+3=5




